CALCUL DE DERIVEES 

	PRIVATE
fonctions : f(x)
	dérivées f ' (x)

	a(R
	0

	x
	1

	ax
	a

	xn, n(R
	nxn-1

	1/x
	-1/x2

	(x
	1/2(x

	ln(x)
	1/x

	ex
	ex

	sin(x)
	cos(x)

	tan(x)
	1+tan2(x) ou 1/cos2(x)

	cos(x)
	-sin(x)

	u(x)n
	nu'(x)u(x)n-1

	(u(x)
	u'(x)/2(u(x)

	ln(u)
	u'(x)/u(x)

	eu(x)
	u'(x)eu(x)</TBODY>

	Arc sin(u)
	U’(x)/ ((1-u2)

	Arc cos(u)
	-u’(x)/ ((1-u2)

	Arc tg(u)
	U’(x)/ (1+u2)


CALCUL DE PRIMITIVES

	PRIVATE
Fonction 
	Primitive

	f(x)=a
	F(x)=ax + b

	f(x)=xn (n(-1)
	F(x)=xn+1/n+1 + K

	f(x)=1/x2
	F(x)= -1/x +K

	f(x)=cos(ax+b)
	F(x)=a-1sin(ax+b)+K

	f(x)=sin(ax+b)
	F(x)= -a-1cos(ax+b)+K

	f(x)=1/sin²(x)
	F(x)=- cotg(x)+K

	f(x)=1/cos2(x)=1+tan2(x)
	F(x)=tan(x) +K

	f(x)=1/(x
	F(x)=2(x +K

	f(x)=1/x
	F(x) = Ln(x)+K

	f(x)=ex
	F(x)=ex+K

	f(x)=cos(x)
	F(x)=sin(x)+K

	f(x)=sin(x)
	F(x)= - cos(x)+K

	f(x)=ax(a(0 et a(1)
	F(x)=ax/Ln(a) + K

	f(x)=Ln(x)
	F(x)=x(Ln(x)-1)+K

	un.u'
	un+1/n+1 + K

	u'/u
	Lnu+K

	u'/2(u
	(u + K

	u'.eu
	eu+K

	f(x)=1/(1+x2)
	F(x)=arc tg(x)+K

	f(x)=1/((1-x²)
	F(x)=arc sin(x)+K


